Task: To count in 3’s.

True or False?

| start at O and count in 3s
| say the number 14
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Explain your answer.

Teddy is counting in 2s and Jack is
counting in 3s.

Teddy | 2 4 6 8

Jack 3 6 9 12
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Teddy says,
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If we add our
numbers together as
we count we can
make a new number

pattern. )

What pattern do they make?

What happens if both Teddy and Jack
count in 5s and they add them together
to make a new pattern?

. What do you notice about the numbers that are circled?

Continue the pattern.
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. Complete the number sequences.

15

27

24

0 18

W Amir has 15 stickers. He collects 3 more each day.
Complete the number track to show how many he will have in six

days.

15







